Name

Form

Teacher

Maths

Homework Booklet

Topic Score Sparx %
achieved
1. Fractions, decimals and percentages /24 %
2. Standard form /24 %
3. Money calculations /4 %
4. Conversion graphs /11 %
5. Mixed Revision /20 %

6. Mixed Revision

/20

%




Week 1

HEZ
A4
Write these fractions as decimals
3 3B R 19
@ ® 35 O @ 55 @ 3 ) 7o
7 13 . 33 i 19 83 123
— h - — — k) — ] —
() 2 (h) o (i) 0 () 0 (k) 0 (1) 0
Write these percentages as fractions
(a) 70% (b) 60% (c) 95% (d) 24% (e) 79% (f) 82%
(g) 37.5% (h) 1.8% (i) 11.5% (j) 0.06% (k) 160% (1) 285%
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Week 2

Question 1: Write each of the following numbers in standard form.

(a) 40000 (b) 2000000 (c) 8000000 (d) 7000
(¢) 100000000  (f) 900 (g) 250000 (h) 1900
(i) 54000000 (j) 11000000 (k) 89000 (1) 3600000000

Question 2: Write each of the following as ordinary numbers
(a) 3x10* (b) 9 x10° (c) 6x10° (d) 2x10'°
(e) 5x10’ (f) 1.2 x 102 (g) 2.9 x 10° (h) 8.4 x 10°

(i) 7.7x10% (i) 3.51x10° (k) 9.89 x 107 (1) 1.27 x10°
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B Week 3

A4

1) Nisha buys a drink for £2.10
She pays the exact amount with four coins.

List the coins that she used.

Zander buys a book for £10.01

2)
He pays the exact amount with one note and four coins.
List the note and coins that he used.
3) Menu
Tea £2.80
Coffee £3.35
Biscuit 90p
Scone £3.10

Vicky buys 2 cups of tea and a scone.

How much will she have to pay?

4) Andrew buys these items at a coffee shop.

#

Latte £3.75
Wafer 90p
Scone  E2.79
Apple 80p

Andrew pays with a £20 note and receives £10.76 change.

Did he receive the correct amount of change?
Show your working.
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Week 4

Question 1: Travel time 2

(a) How long should a 120 mile journey take? (hours) 45

4

(b) How long should a 270 mile journey take? 35

3

(c) Carlos has spent 1 hour travelling. 25
What distance is he expected to '

have travelled? ¢

15

(d) Rosie has spent 3.5 hours travelling. 1

What distance is she expected to 05

have travelled?

Question 2:

(a) Change £20 into Polish ztoty
(b) Change £90 into Polish ztoty
(c) Change 300zt into UK pounds
(d) Change 450zt into UK pounds
(e) Change £50 into Polish ztoty
(f) Change £200 into Polish ztoty
(2) Change 800zt into UK pounds

0
0 30 &0 90 120 150 180 210 240 270 300
Distance, miles

Polish zloty

500
450
400
350
300
250
200
150
100
50

G -
0 10 20 30 40 50 60 70 80 90 100
UK pounds
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Week 5
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Week 6
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